

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-49956-66ad5f8d26caf

VERIFY.FTGS.US Date: August 02, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ************************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent ************************************
Buyer (Importer)	Remarks	

Consignor reference: ACE1030.WF



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
cool Little Thing (7.5%) - 355ml 4x6pk case of aluminum cans	174.80 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 19 cases		
azy Little Thing (6.7%) - 355ml 4x6pk case of aluminum cans	92.00 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases		
LS.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases uicy Little Thing (6.5%) - 355ml cans LS.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans	91.92 kg	United States
.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans		
ank Little Thing (7.5%) - 355ml cans	91.92 kg	United States
I.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans		
lazy Little Thing (6.7%) - 355ml cansedited Chamber US2100201	91.92 kg	United States
I.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans		
ropical Little Thing (7.0%) - 355ml cans	91.92 kg	United States
I.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 cans		
loptimum Triple IPA (11.0%) - 355ml 6x4pk case of glass bottles	149.00 kg	United States
I.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 cases		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-49956-66ad5f8d26caf

VERIFY.FTGS.US Date: August 02, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles California 90744 United States	Destination Country Taiwan	Destination Port Taipe
Consignee	Export Date ***********************************	Exporting Carrier **********************************
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB ************************************
New Taipei City 242 Taiwan	Owner or Agent	Forwarding Agent
Buyer (Importer)	Remarks	

Consignor reference: ACE1030.WF

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Pale Ale (5.6%) - 355ml 4x6pk case of glass bottles	298.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 20 cases Forpedo (7.2%) - 355ml bottles H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 bottles	148.80 kg	United States
tomic Torpedo (9.2%) - 355ml bottles I.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 bottles	148.80 kg	United States
Cold Torpedo (7.0%) - 355ml bottles H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 bottles	148.80 kg	United States
Cryo Fresh Torpedo (7.0%) - 355ml bottles _{ed Chamber} US2100201 H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 240 bottles	148.80 kg	United States
Cosmic Little Thing (8.0%) - 568ml 15pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 18 cases	168.75 kg	United States
Big Little Thing (9.0%) - 568ml 15pk case of aluminum cans H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 18 cases	168.75 kg	United States



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of
- origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-49956-66ad5f8d26caf

VERIFY.FTGS.US Date: August 02, 2024

Seller (Exporter) Global Craft Trading, Inc. 901 East E Street	Transport Type Vessel	Port of Loading Los Angeles
Los Angeles	Destination Country	Destination Port
California 90744	Taiwan	Taipe
United States		
	Export Date	Exporting Carrier
Consignee	********	
White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist.	Import Permit Number	Bill of Lading / AWB ************************************
New Taipei City 242 Taiwan	Owner or Agent ************************************	Forwarding Agent ************************************
Buyer (Importer)	Remarks	

uyer (importer)		
	Consignor reference: ACE1030.WF	

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lazy Little Thing (6.7%) - 18.9L Steel "Sierra Nevada" Keg	2614.50 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 105 kegs		
ale Ale (5.0%) - 18.9L Steel "Sierra Nevada" Keg	2614.50 kg	United States
I.S.Code: 2203.00.0000 Marks: Sierra Nevada, 105 kegs		
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 105 kegs Forpedo (7.2%) - 18.9L Steel "Sierra Nevada" Keg H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 20 kegs	498.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 20 kegs		
Sunny Little Thing (5.0%) - 18.9L Steel "Sierra Nevada" Keg	249.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Sierra Nevada, 10 kegs	XXXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
iny Open Mic Juicy TIPA (10.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases		
Gave My Dog One IPA NE IPA (10.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases		THE TAXABLE PROPERTY.
he Juice Is Real NE DIPA (8.5%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
 The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

LOS ANGELES AREA CHAMBER OF COMMERCE

TO VALIDATE, GO TO Certificate Number: LA-COO-49956-66ad5f8d26caf **VERIFY.FTGS.US** Date: August 02, 2024

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Global Craft Trading, Inc. 901 East E Street **Destination Country Destination Port** Los Angeles Taiwan Taipe California 90744 **United States** Exporting Carrier **Export Date** Consignee White Fox Global Co. Ltd. Bill of Lading / AWB Import Permit Number No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242 Forwarding Agent Owner or Agent Taiwan Remarks

Buyer (Importer)

Consignor reference: ACE1030.WF



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
n Haze We Trust NE TIPA (11.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases		
Can't Feel My Face NE TIPA (10.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases		
Faded For Science NE TIPA (10.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases		
Faded For Science Too (10.0%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases ORIGIN	XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
Ermahgerd Slurshy Mango Pineapple Marshmallow (6.5%) - 473ml 6x4pk case of aluminum cans	120.00 kg	United States
H.S.Code: 2203.00.0000 Marks: Local Craft Beer, 10 cases		
======================================		/
CHAMBERS FEDERATION		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 The information in this certificate and in any documents provided to the Los Angeles Area Chamber of
- Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #
7/3/2024	ACE1030.WF.

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan Ship To

White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242, Taiwan

P.O. No.	Terms	Project
05152024	Due on receipt	

MPN	Description	Invoiced	Rate	Amount
Sierra Nevada	Cool Little Thing (7.5%) - 355ml 4x6pk case of aluminum cans	19	28.90	549.10
Sierra Nevada	Hazy Little Thing (6.7%) - 355ml 4x6pk case of aluminum cans	10	28.90	289.00
	Hazy Variety Pack - 355ml 2x12pk case of aluminum cans			
Sierra Nevada	Juicy Little Thing (6.5%) - 355ml cans	240	1.2042	289.01
Sierra Nevada	Dank Little Thing (7.5%) - 355ml cans	240	1.2042	289.01
Sierra Nevada	Hazy Little Thing (6.7%) - 355ml cans	240	1.2042	289.01
Sierra Nevada	Tropical Little Thing (7.0%) - 355ml cans	240	1.2042	289.01
Sierra Nevada	Hoptimum Triple IPA (11.0%) - 355ml 6x4pk case of glass bottles	10	42.55	425.50
Sierra Nevada	Pale Ale (5.6%) - 355ml 4x6pk case of glass bottles	20	25.85	517.00
	Torpedo Variety Pack - 355ml 2x12pk case of glass bottles			
Sierra Nevada	Torpedo (7.2%) - 355ml bottles	240	1.2375	297.00
Sierra Nevada	Atomic Torpedo (9.2%) - 355ml bottles	240	1.2375	297.00
Sierra Nevada	Cold Torpedo (7.0%) - 355ml bottles	240	1.2375	297.00
Sierra Nevada	Cryo Fresh Torpedo (7.0%) - 355ml bottles	240	1.2375	297.00
Sierra Neavda	Cosmic Little Thing (8.0%) - 568ml 15pk case of aluminum cans	18	28.75	517.50
Sierra Nevada	Big Little Thing (9.0%) - 568ml 15pk case of aluminum cans	18	28.75	517.50
Sierra Nevada	Hazy Little Thing (6.7%) - 18.9L Steel "Sierra Nevada" Keg	105	69.10	7,255.50
Sierra Nevada	Pale Ale (5.0%) - 18.9L Steel "Sierra Nevada" Keg	105	61.15	6,420.75
Sierra Nevada	Torpedo (7.2%) - 18.9L Steel "Sierra Nevada" Keg	20	65.20	1,304.00
Sierra Nevada	Sunny Little Thing (5.0%) - 18.9L Steel "Sierra Nevada" Keg	10	69.10	691.00
Local Craft Beer	Tiny Open Mic Juicy TIPA (10.0%) - 473ml 6x4pk case of aluminum cans	10	81.00	810.00
Local Craft Beer	I Gave My Dog One IPA NE IPA (10.0%) - 473ml 6x4pk case of aluminum cans	10	81.00	810.00

Total

Payments/Credits

Balance Due





901 East E Street, Suite 201 Wilmington, CA 90744

Invoice

Date	Invoice #
7/3/2024	ACE1030.WF.

Bill To

White Fox Global Co. Ltd. 13F, #504 Ren Ai Rd, Sec 4 Taipei City, Taiwan (R.O.C.) Taiwan

Ship To

White Fox Global Co. Ltd. No.12, Ln 21, Sanhe Rd. Xinzhuang Dist. New Taipei City 242, Taiwan

P.O. No.	Terms	Project
05152024	Due on receipt	

MPN	Description	Invoiced	Rate	Amount
Local Craft Beer	The Juice Is Real NE DIPA (8.5%) - 473ml 6x4pk case of aluminum cans	10	81.00	810.00
Local Craft Beer	In Haze We Trust NE TIPA (11.0%) - 473ml 6x4pk case of aluminum cans	10	81.00	810.00
Local Craft Beer	I Can't Feel My Face NE TIPA (10.0%) - 473ml 6x4pk case of aluminum cans	10	81.00	810.00
Local Craft Beer	Faded For Science NE TIPA (10.0%) - 473ml 6x4pk case of aluminum cans	10	81.00	810.00
Local Craft Beer	Faded For Science Too (10.0%) - 473ml 6x4pk case of aluminum cans	10	81.00	810.00
Local Craft Beer	Ermahgerd Slurshy Mango Pineapple Marshmallow (6.5%) - 473ml 6x4pk case of aluminum cans	10	114.50	1,145.00

Total \$27,645.89



Payments/Credits \$0.00 **Balance Due**

\$27,645.89